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SECTION-A
i) General Awareness
1. The book "Jyotipunj” is written by 6. Mount Pinatubo (Volcano mountain) is
(A) Narendra Modi located in which of the following country ?
(B) H.D. Deve Gowda 7] dapan
i (B) Philippines
(C) Manmohan Singh (C) China
(D) None of the above (D) None of the above
2. Who is the present Governor of 7. !_akshadweep Coral Islands situated
Himachal Pradesh ? in
Mish (A) Indian Ocean
() ikalaMishra (B) Pacific Ocean
(B) Bandaru Dattatreya (C) Bay of Bengal
(C) Acharya Devvrat (D) None of the above

D) None of the above
©) 8. Who bagged the best actor award in

3. Singalila National Park is situated in Film Fare Awards 2019 ?
which of the following State ? (A) Ranbir Kapoor
(A) Karnataka (B) Vicky Kaushal
(B) Tamil Nadu (C) Cajraj Rao
(C) West Bengal (D) None of the above
(D) None of the above 9. Which of the following Act provides
Protection of Wild Animals, Birds and

4. Which of the following Committee setup Plants ?
by Central Government advised to stop (A) National Green Tribunal Act

setting up new colleges from 2020 and (B) Wildiife Protection Act, 1972

iew the creation of new capacit : :
re\;lev:w 2 = alfterthat’? RECEY (C) National Environment Appellate
£y v ! Authority Act

(A) Nandan Nilekani Committee (D) None of the above

(B) Narayan Murthy Committee
(C) B.V.R.Mohan Reddy Committee 10. Who among the following personalities
- given below also often known as Father

(D) None of the above of Bangladesh ?

5. What is the capital of Kenya ? (A) Sheikh Mujibur Rahman
(A) Kampala (B) Muhammad Mansur Ali
(B) Nairobi (C) Sheikh Hasina
(C) Addis Ababa (D) None of the above
(D) None of the above

-2-
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i) A SR
SOfqdsr g&as 3N foret e 6. Tommgat =iet (Saremgdt wda) fFeferfaa
(A) HgwwE TEfrgind fme ?
(B) Ta.€. @ e (A) ST
(C) e e E(E:’; f_j‘;ﬂf‘aﬁ
(B o A (D) 3% & ¥ 1S T
TEHT=eT 99T % S| TSI S B 7 7. rerd i e B
(A) mﬁa A) fe
(B) m;"'é" (B) mﬁanmm
©) .%'aa'cr (C) st it @t
(0) ST R T (D) 3% 4 Y FI1E I8
At 3 & for st & Rrefien s 8. TohoH B TR 2019 T w23 arfiran
o e § 7 F e s e ¢
(A) FAieH (A) TR FR
(B) TS (B) Tt #rerer
(C) ufvam ammma (C) TSRS Ud
(D) 3% ¥ T FIs & (D) 3% U & IS A
frfafea & @ oz wen g g form | 9. F=fofea 3 @ - srfufigm s=sfiai,
gfafa 3 2020 T 7 weETfemTeEl F SR afrt 7R et % GRET0T T T KAl
ST U 3TR 396 918 T & 981 a8 g7
7% uriar & frwfor & getan 3 6 geE (A) T Bl wiftretor srfufam
are (B) F=asitg TXamr rfef=m, 1972
(A) A iersolt fify (C) T wafaRy Sydtefide WTftrehtor
(B) R g wfufy et
(C) ft.=h.37R. wrem & wfufy (D) 3% & & FIS 7
(0) SHAT A 0 PR =t % & ot s
72 <t T R 7 S FET AT E 7
A (A) ¥ g A
(Bl (B) Hew vy e
D
i (D) 35§ ¥ i3 el
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12

13.

14,

15.

World Water Day is celebrated every
year on

(A) March 218t

(B) March 22nd

(C) March 3@

(D) None of the above

In which of the following place Haldia
port is situated ?

(A) Goa

(B) Guijarat

(C) West Bengal

(D) None of the above

Which of the following State has got Gl
tag for its famous Kani shawls ?

(A) Odisha

(B) Rajasthan

(C) Madhya Pradesh

(D) None of the above

In which of the following city, country’s
first greenfield Industrial Smart City
was inaugurated by the Prime Minister
recently ?

(A) Mangaluru

(B) Aurangabad

(C) Chennai

(D) None of the above

Consider the following statements about
Samudrayaan project.

1. The ‘Samudrayaan’ project
undertaken by the NIOT, Chennai,
is in line with the ISRO’s ambitious
‘Gaganyaan’ mission of sending an
astronaut to space by 2022.

2. The ‘Samudrayaan’ is a part of the
Ministry of Earth Sciences’ pilot
project for deep ocean mining for
rare minerals.

Choose the right option :

(A) Only the statement 1 is true

(B) Only the statement 2 is true

(C) Both statements 1 and 2 are true

(D) None of the above

16.

i

18.

19.

20.

) 0O 0 A R O 0

Halophytes are

(A) Plants adopted to growing in saline
conditions

(B) Plants adopted to growing in high
temperature conditions

(C) Plants adopted to growing in less
water conditions
(D) None of the above

Who has been honoured with the 2019
Right Livelihood Award ?

(A) Greta Thunberg

(B) Christine Lagarde

(C) John Paul Jose
)

(D) Ridhima Pandey

In India Ease of Living Index is released
by
(A) Ministry of Home Affairs

(B) Ministry of Housing and Urban
Affairs

(C) Ministry of Rural Development
(D) None of the above

Which noted journalist has won the
first Gauri Lankesh Memorial Award for
Journalism ?

(A) Arnab Goswami

(B) Barkha Dutt

(C) Ravish Kumar

(D) Rajdeep Sardesai

The Battle of Waterloo was fought in
which country?
(A) France
(C) Belgium

(B) Germany
(D) Britain
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12.

13.

14.

15.

gfa a¥ fava 511 feam CaR-cio|
SATE |

(A) 219

(B) 227

(C) 3

(D) 3% H U HIE Tal

T=ferfaa o & form v w efeeT seome
feme?

(A) T

(B) TSI

(C) ufym s

(D) 3% H 9 HIE T

ffafes 9 2 5w osg =i vfag ==
ST o o Gl & e 2 7

(A) 3nfesm

(B) TSEI™

(C) TegwRs:

(D) 3 # & 1S T

T & 4 feafafea 4 @ fea w8

TS SR 9% % Uge eiqad e
TR T IgETeA fera T 7

(A) WITTE

(B)

(C) ==

(D) 3% H @ =I5 A&l

HHEA ITETS1 o AR | i et

T R |

1. AT 9RESET NIOT, 93 g
ISRO % wewmsie mHa favm
STt T 2022 G 37afte § U Aafe
It $5 T Y R, % SEisH | E
#1132

2. gUEAT’ AN @isi 'q Ted
HETANHE @ &g Yea fagH qarer
‘q?tmazqﬁa’ﬁ%rgm'

F 9T 2|
e FeH :
(A) %aa@qm1 g 2
(B) Fae w9+ 2 T B
(C) SHi YT 1 AR 25 &

(D) ¥ H Y FIE T

16.

17.

18.

19.

20.

MKG-XXVI/TECHLT/1T/01

EeTEEeY €

(A) Sevfia feafodt § e ssfe
e

(B) 3=a awH I =faat # s
3Tfera qie

(C) T et fesrferai & 3aTet S¥fera
are

(D) 3 H & =l &

T ¥ FH 2019 TS ATAEES TEFR &
fere smfea 2 7

(A) 2T g

B) fafesame

(C) & Ui S|

(D) Tefermmare

A H el GEaT gEkih g
ST feram )

(A) TE HATH

(B) TTaTE 7R Y&l uTe! & HAE
(C) urHivr fasra TaTe

(D) I H & F1E 7

UHHTAT B ShTET TTa Toehal 2 Taan TRy
THET HAITES JERR St forar 7

(A) AT TRaTHt

(B) =@tzH

(C) ToftT FHR

(D) TEY HedTs

TS T I <91 H g 7
(A) BT (B) Sw+t
(C) sfmm (D) fore=
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21.

22.

23.

24.

00 00 OO O

it) General Intelligence and Reasoning Ability

How many 3'’s are immediately preceded
by 9 but not immediately followed by 5
in the following number series ?

93459359364393353956389
375759399
(A) 4
(C) 5
Select the correct alternative. If more

than five letters are missing then select
the last five letters of the series.

(B) 3
(D) 2

abc_ea___dd__bec__
(A) bbbbb (B) abbbb
(C) dcbbb (D) none

Which one number can be placed at the
sign of ?

) @ @ @ 6 (9
@) 42)

(D) ©

Find the odd man out.
(A) January

(B) April

(C) July

(D) October

25.

26.

27.

If the given interchanges are made in
signs and numbers, which one of the
four equations would be correct ?
Given interchanges : Signs '+ and —’;
numbers 5 and 8.

(A) 82-35+55=2

(B) 82-35+55=102

(C) 85-38+85=132

(D) 52-35+55=72

In a certain language MADRAS is coded
as NBESBT, how BOMBAY is coded in

that language ?
(A) CPNCBX
(B) CPNCBZ
(C) CPDCBZ
(D) CQOCBZ

How many pairs of letters are there in
the word ‘CONTEMPORARY’ which
have as many letters between them in

the word as in the alphabets ?

(D) More than 4

https://www.freshersnow.com/previous-year-question-papers/
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ii) TTHT gigHaT a7 diiches arEan

frafafea g@en 4 fF 3 0@ & foas
3 Tect 9 & Wg S S1E 5T & 7
934593593643933539539
375759395

(A) 4 (B) 3

(C) 5 (D) 2

Tal fawey giu | Ife uie | e 9aR
& af JEen & Afag ui" 3R g |
abe ceac i cidd _beepag A
(:ﬁ_bbbbb

(B) abbbb

(C) dcbbb

(D) IS &

2% e AR-f e S a7

25,

26.

e/,

afe fau mu fafro, feeat ofr wemet 4
F fou 97 ot IR gHfteo § § Fe-a
forerea @t g 7
ﬁQﬂQﬁﬁW:ﬁ@#'aﬂ'{ﬂ—’;

T 5 3R 8.

(A) 82-35+55=2

(B) 82-35+55=102

(C) 85-38+85=132

(D) 5235 +55=72

TS FZ W § MADRAS % NBESBT
foman s ®, 361 %2 Wi § BOMBAY
i Y foran s ?

(A) CPNCBX

(B) CPNCBZ

(C) CPDCBZ

(D) CQOCBZ

3155 ‘CONTEMPORARY’ ¥ 378 & UH
T gm & o ffer 4 39 & s
o= aviaen 9 € ?

(A) O

B) 4

(C) 3

(D) 4% fy=s
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28.

29.

30.

[n an examination, 42% students failed
in Hindi and 52% failed in English. If
17% failed in both the subjects, the
percentage of those who passed in both
the subjects is

(A) 23%
(B) 27%
(C) 34%
(D) 40%

In a family of eight members, there are
two married couples and a widow. A, the
engineer, is married to a doctor. C, an
architect is the wife of D, E, a student
is the only child of C. G is the son of
H whose sister F, F is the niece of the
manager. B, a teacher, is the mother of
only A and D.

Who is the manager ?
(A) E

Four Men A, B, C and D and four
women W, X, Y and Z are sitting round
a table facing each other. No two men
or women are sitting together. W is to
the right of B. Y is facing X and is to the
left of A. C is to the right of Z. Who are
the two persons sitting adjacentto D ?
(A) WandY

(B) Xand W

(C) XandZ

(D) WandZ

31.

32.

33.

VP 1 O A

When the time is 10:30, if the minute
hand points towards south, the hour

hand will point towards
(A) North-East
(B) North-West
(C) South-East
(D) South-West

Among A, B, C and D, B is heavier than
A and C but C is taller than him. D is
not as tall as C, while A is the shortest.
C is not as heavy as A. D is heavier
than B but shorter than him. Who is the

heaviest ?
(A) B
(B) A
(C) D
(D) C

The sum of ages of a father and son is
45 years. Five years ago the product
of their ages was 4 times the father’s
age at that time. The present age of the

father and son respectively are
(A) 2.5 years, 10 years

(B) 36 years, 9 years

(C) 39 years, 6 years

(D) none of these

https://www.freshersnow.com/previous-year-question-papers/
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28.

29.

30.

T e 3, 429% foemef et o sl gy
HR 52% 3FISH | el g€ 1 AR 17%
2l ¥ STl gu, @t <t fowat § Sl
e aret ferenfefat = wfawra @

(A) 23%

(B) 27%

(C) 34%

(D) 40%

T 3718 Hew) o IRar | 3t fomnfea g
3t o fauan & | A, S SRR B, Swem
foame w faferees & 5o % 1 D 1 el
C U SEGHR § | E, C o1 Sohelidl el T
a2 | G, HF R Shi s R F, F
S Sh1 SelTsht & | B Us et & 3R share
ARDFOMETE | FUF FHA 2 ?

(A) E

(B) D

(C) H

(D) A

IR &9 A, B, C 3R D 3R IR #fgwmd
W, X, Y 3R Z T a9 & 91 3R oF
WA M PFFRERE | AT
3 Hfgend ush Ty 79 98 | W, B F e B
YH @ XA AT FANTZAFAER 1C, Z
FMR | DFE WA =R AAE ?
(A) W3Ry (B) X 3w

(C) X3z (D) W3tz

31.

32.

33.

MKG-XXVI/TECHLT/1T/01

aamm:ao%,aﬁﬁqzﬁgéa%mﬁ
SRRMERAIGE A |
(A) STR-Td

(B) Iw-ufrad

(C) afor-gd

(D) =féur-ufyray

A,B,C3RDH, B, C3MRAZ I E
Tq C 398 &e & | D, C e o i &
Sefeh A TER BT 2 | C, A fSramm s =&
21D, B¥ 9l § W 399 BT B, T=
TR 7

(A) B
(B) A
(C) D
D) C

forem o gz Y STy F A 4599 € | wi=
Y e I TG A U I w9 T
1 1Y 1 4707 & | T 37 3 3t e
3T SAET: &

(A) 2539, 1099

(B) 3674, 9%

(C) 399, 634

(D) T & IS T
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34.

35.

36.

-10-

fP@QmeansP>Q
P«QmeansP>Q

P=QmeansP=Q
PQmeans P <Q
P+QmeansP<Q
Statement : K @ C,NT, T=C
Conclusions: ) NC
nmKerT
Then,
(A) Only conclusion | follows
(B)
(C)
)

Only conclusion I follows
Conclusions | and |l both follows

(D) Either | or Il follows

After the series, below it in the next line,
a number is given followed by (A), (B),
(C), (D) and (E). Complete the series
starting with the number given.

11 15 38 126

7 A) (B (€ O (F)
Which number will come in place of (C) ?
(A) 102

(B) 30

(C) 2140

(D) 80

In a leap year, which month will have
the same calendar as that of January
in that year ?

(A) April
(B) July
(C) October
(D) March

37.

38.

39.

40.

A T 0 O OO A

Find the odd man out of the series
5.10, 17, 25.

(A) 5
(B) 10
(C) 17
(D) 25

In a row of girls, Chetna is 7" from the
right and Neelam is 15 from the left. If
both of them exchange their positions,
then Chetna becomes 20 from the
right. How many girls are there in the
row ?

(A) 26
(C) 35

(B) 21
(D) 34

Find the missing number in the
following.

6 8 2
9 3 13
10 | 14 1

(A) 11

(B) 9

(C) 7

(D) 5

Which of the following words will come
at second position if all the words are

arranged alphabetically ?
(A) Prominent
(B) Prohibition
(C) Programme
(D) Protracted

https://www.freshersnow.com/previous-year-question-papers/
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3. APe@QFIEP>Q 37. S@a 5, 10, 17, 25§ & aar fiy
P.QEadP>Q BT |
P=QFJAIP=Q (A) 5
PamadP<Q (B) 10
P+Q&3IP<Q (€) 17
FIT:K@C,NT,T=C (D) 25
frerd: )N C 38. el fl Uk Ul §, Uar e @ 7 f B
HKe@T R frem e & 15 f ® | 3fe ST g
& O wme%mﬁﬁaaaé?ﬁ%,ﬁ%ama@ﬁ
J _ 20 1Tt 2 | ufea e forat el
A) Fae e | STE wa @ | 397 B
B) ae frsh || SToR LA § | (A) 26 (B) 21
(C) e | 3T || ST STFETT LT & | (C) 35 (D) 34

(D) TN | AT || SFTEIT HAT R |
35. @l % 914, $Hh A1 STl g ¥ T

39, Tferfiaa # & qwa v 31a #: |

i §8 W& % A& (A), (B), (C), (D) 3 6 | 8 | ?
(E) 3Tmen 8 | €t g HAT © WY BN ATt o | 3 |13
@ il qOf |

11 15 38 126 10 | 14 | 1

i A B (© O (B

F-H F&IT (C) & T W I ? A 1

(A) 102 (&) 2
(B) €) 7
(C) 2140 (D) 5
(D) 80
. | 40, uiHTEn % STFHR A TR -H1

VRS HTE ST € (A) i;rominenl
) i (B) Prohibition
(B) g

(C) Programme
(C) rHe
(D) o (D) Protracted

-11-
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41.

42.

43.

45.

R 60 O 0

iii) Arithmetical and Numerical Ability

If the second term of an AP is 4 and
10" term is 20, then the 15™ term is
(A) 28

(B) 32

(C) 30

(D) none of these

A bag contains Rs. 187 in the form of
1 rupee, 50 paise and 10 paise coins in
the ratio 3 : 4 : 5. The number of coins
of each type are respectively

(A) 102, 136, 170
(B) 136, 102, 170
(C) 170,102, 136
(D) none of these

3.3 _
(A) 612
(B) 216
(C) 218
(D) 126

If 2X — 2X—1 = 4 then 3% =
(A) 7 (B) 3
(C) 27 (D) 9

If the point (k, 3) is at a distance of J5
units from the point (2, k), the value of
kis

(A) 1

(B) 4

(C) 1and 4

(D) none of these

46.

47.

48.

49,

50.

51.

If the product of two numbers is 216 and
their LCM is 36, their HCF is

(A) 8 B) 7
(C) 6 (D) 8

The wheel of a motor car makes
800 revolutions in covering 880 m. The
diameter of the wheel is

(A) 0.35m
(B) 0.175m
(C) 0.70 m
(D) none of these

A cuboid has its length, breadth
and height as 5 cm, 3 cm and 2 cm
respectively. Its volume in cubic cm is
(A) 27 (B) 30

(C) 33 (D) 36

The angle covered by the minutes hand
in 12 minutes is

(A) 60° (B) 108°

(C) 72° (D) 100°

Thrice a number is 24 more than one-third
of it. The number is

(A) 8 (B) 9

(C) 12 (D) 15

The 3 numbers in Arithmetic Progression
(AP) whose sum is 18 and product is
210 are

(A) 5,6,7 (B) 4,5,6

(C) 8,4,5 (D) 2,4,6
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42,
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iii) STeRTTUTee Us WeaTene TrvemT

af T T Ao FgEU wR 4T

109198 208, Al 155 yg &
(A) 28
(B) 32
(C) 30

(D) 379 ¥ FIE 7

O ¥t 1 w9y, 50 8 ok 10 AT H
e F s udz 187%99:3:4:5%
TG H R | Tk YR & Rraehi 1 g
THE: B

(A) 102, 136, 170

(B) 136, 102, 170

(C) 170, 102, 136

(D) ¥ & i3 7

23.33=
(A) 612
(B) 216
(C) 218
(D) 126

e 2X —2x~1= 4741 3% =
(A) 7 B) 3
(C) 27 (D) 9

affeg (k, 3), fig 2, K & V5 TEw R, @
kT qE 8

(A) 1

(B) 4

(C) 134

(D) ¥H @ =13 7

46.

47.

48.

49.

50.

51,

fe & FeasTi % T 216 ot I
Y 36 7, I HEY B
(A) 8 (B) 7
(C) 6 (D) 9

880 HI. T = | Th WX FR F yRk
800 U R Fd & | wfew = = &

(A) 0.351t.

(B) 0.1751t.

(C) 0.70.

(D) 37 @ s &

wﬁmﬁﬁa’aﬁ,aﬁgﬁaﬂtmsﬁﬁ,
38. M. i@ . wwwn: R | 3w o
T a5

(A) 27 (B) 30

(C) 33 (D) 36

12 fore 3 fime & g g @ i
T 10T §

(A) 60° (B) 108°

(C) 72° (D) 100°

T AT 1 9 O 39 O fer @
24 AT 2 | g &

(A) 8 B) 9

) 12 (D) 15

gaTeR Soft # 3 FEard e 9 18 3k
% 210 2

(A) 5,6,7 (B) 4,5,6

(C) 3,4,5 (D) 2,4,6
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52,

53.

54.

55.
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The ages of two persons are in ratio
5: 7. 18 years ago their ages were in
the ratio 8 : 13, their present ages (in
years) are

(A) 50, 70
(B) 70, 50
(C) 40,56
(D) 35,49

A man sells 6 radios and 4 televisions for
Rs. 18,480. If 14 radios and 2 televisions
are sold for the same amount, the price
of a television is

(A) Rs. 1,848
(B) Rs. 840
(C) Rs. 1,680
(D) Rs. 3,360

The smallest number which when
divided by 16, 20 and 40 leaves the
same remainder 4 is

(A) 124
(B) 84
(C) 164
(D) 80

The value of

a+b b+c c+a
X xP & B
xP x° x2

(A) O
(B) 1

(C) abc
(D) a2b?c?

56.

57.

58.

59.

60.

If tan® + secH = a and secH — tand = b
then the relationship between a and b
is

a

(A) =1

(B) ab=1
(C) a2+b?2=1
(D) a?2-b%=1

fA:B=2:5then
(10A +3B) : (5A +2B) =
(A) 4:7

B) 7:4

(C) 3:7

(D) 7:3

The point of intersection of the lines
2x—-by=6andx+y=3is

(A) (0,3)

(B) (3,0)

€ 3,3)

(D) (0,0)

The area of a triangle whose sides
measure 14 cm, 48 cm and 50 cm is

(A) 672 cm?
(B) 336 cm?
(C) 350cm?
(D) 700 cm?

Simpie interest on Rs. 2,000 for
5 months at 16% per annum is

(A) Rs.133.33
(B) Rs. 133.26
(C) Rs. 134.00
(D) Rs. 132.09
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52.

53.

54.

55.
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R =fFwt F g H SPIT 57 R |
1899 Y&l 371 317 8 : 13 % T 3 off,
T g & (a6t #)

(A) 50,70

(B) 70, 50

(C) 40, 56

(D) 35, 49

T fFa 6 et o9k 4 2fefasm

%. 18,480 § = =aT 2 | 92 14 e i
At i em i R IR E, S
e =1 g 2

(A) %. 1,848

(B) %. 840

(C) ®. 1,680

(D) %. 3,360

I8 BI ¥ B TE I 16, 20 3R 40 Y
HITT 3T ST W 89 H 99 4 3t 2

(A) 124

(B) 84

(C) 164

(D) 80

a a+b b b+c ¢ \Cta
X_ X X | =wHume
X x° ey

(A) 0

(B) 1
(C) abc
(D) a2h2c2

56.

57.

58.

50.

60.
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4f< tand + sech = a 3R secH —tand = b

Tl a 3R b & i gag 2
(&) £=1

(B) ab=1

(C) a2+b2 =1

(D) a2—b2=1
IRA:B=2:5d
(10A +3B) : (5A + 2B) =
(A) 4:7

(B) 7:4

C) 3:7

©) 7:3

@IS 2x — By =6 R x + y = 3 F
gftesed fog &

(A) (0, 3)

(B) (3,0)

€) 3, 3)

(D) (0, 0)

34 Fis =1 &t et seneti 6w
14 9.4, 48 € 4t s 50 F 7t 2

(A) 6728.H.2

(B) 336#.H.2

(C) 350%.H.2

(D) 700 1.2

¥. 2,000 W 5 98 &1 16% Ui a9 &t =X
T TR =TS 8

(A) % 133.33

(B) ®.133.26

(C) %.134.00

(D) %. 132.09
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

f&=ht s i Ay

o= afFdfiFd s s aer sy | 66 ‘9s = foaa ® | 56 a9 =1 wiysa
dmE I wed Tiﬁﬁﬂ%ﬂ%@m

A) ST U |
e (B) sTeTeh A v foran |
(B) ‘Tfﬁ (C) ek vA @ e e |
(C) & (D) T 8 =1 TEl
(D) ¥ & FI el 67. FBTIHAdeae, R e
foram = deaw Te< B :i; M
) e B) Frd=
(B) WS () foremafiaos
() Sl (D) T & =g TEf
(D) T S T 68. W+ 5 =%, G RO
TR RO F TR WER 2
BT e | (A) T
(A) 2 (B) q%-;;:

c
Bl ED; :‘;}Tﬁ@rﬁx
(C) =R
(D) 379 & HE =i 69. ‘THTST hi-TE! TN %1 IeE & 7

(A) STE FBICE
el e ol Tafe yooa & (B) 3
(A) (B) ¥ ©) ol
(© A (D) # (D) ¥ A T
T F IR R I F A eaae ? | 70. FowEd F FT AT E@rs ?
(A) d= (A) Il I
(B) T (B) ARrHTol ek
© 2 (C) =4 FRH
() i & A e
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72.

73.

74.

75.
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7 F PR e e E 7
(A) i

(B) 9rd

(c)

(D) T § 1 T

7 wedl & wrdfs @ 7€ @ B, 3R
FEd & |

(A) i

(B) INTEG

(C) %

©) T ¥R

T U3 Yedl & a1 fohd o § wa i
?7

(A) Fared

(B) FHHaTH

(C) WrEaT=

(D) ¥4 & IS e

FjaT=d Hl FHHAT § FERTT ~

““Hie e gear € 1

(A) WA B Ik It STt ® |

(B) HIe i G Ye1 =1Mey |

(C) WieA & T&eh el Tel S |

(D) T ¥ 1 e

STl 9768 Tl 7R Tk AT & forepe B
fTidomE, 3R __ =g

(A) dgHd (B) qew

(C) =¥ (D) TR

76.

il

78.

79.

80.
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$TH © ST 3158 ITTO Srereh fasie w5
I & 7

(A) =reT HreT

(B) T T

(C) ATWIE

(D) ! wrEt

< ITeqT, TRITEN AT AT 1 UTER Srew
I, AT s g wEd
g1

(A) =T ST ST

(B) Tt gus /=y

(©) oo g arr

(D) T & &1 el

Ieqfey o YR W YIeaT T arfieRtor faraa
YHR § 7
(A) =

(C) [r=

(B) =R
(D) &

T HIeA o Tohae W8 & 7
®) 9=
(D) 8 & IS e

(A) =
(C) IR
“qTaTOT’ 1 dEWE TIsE ©
(A) 3T
(C) T

(B) WeR
(D) e
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v) English Language and Comprehension
S A 3 ey

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

81. The soldiers plundered the beautiful
country.

(A) Appreciate
(C) Looted

(B) Admired
(D) Visited

82. The minister came with his escort.
(A) friend
(B) bodyguard
(C) family
(D) courtiers

83. The essay calls for a great deal of
(A) Criticism
(B) Appreciation
(C) Admiration
(D) Self~-examination

Choose one word substitute for the following
from among the choices given below.

84. Examination of one’s own thoughts
(A) Retrospection
(B) Inspiration
(C) Destination
(D) Introspection

85. Assuring that something will definitely
be done

(A) Decision
(B) Seize

(C) Obsession
(D) Promise

=18~

Choose the wrongly spelt word from the
following choices.

86. (A) INTRICATE
(B) CONSEQUENSE
(C) AILMENT
(D) HAZARDOUS

87. (A) CONTRIBUTION
(B) GENEROSITY
(C) PARANOIA
(D) TRASITARY

Fill in the blanks with suitable articles from
among the choices given below.

88. Canl get
(A) the
(C) a

seat on the bus ?
(B) an
(D) on

89. ox is required to till this field.
(A)

(B) An

(C) The

(D) None of these

90. Wehad lunch at
restaurant.

(A) a
(B) the
(C) an
(D) none of these

newly opened
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Fill in the blanks in the following sentences
using the appropriate forms of the words
given in brackets from among the choices
given below them.

91. (expect) is always better than
fulfillment.

(A) Expectation
(B) Expectability
(C) Expectant
(D) Expect

92. She was asked to write a job
(apply)
(A) applicable

(B) apply
(C) application
(D) applicant
Add suitable question tag to the following

statements from among the choices given
below.

93. You would scarcely expect a holiday,
?
) wouldn’t you
) will you
(C) would you
) haven't you

94. Rima cares for the elderly, ?

(A) isn'tit (B) does she

(C) will she (D) doesn’t she

=19-

MKG-XXVIVTECHLT/1T/01

Fill in the blanks in the following sentences
using the appropriate antonyms of the words
underlined.

95. Though he has a secure job, he feels
at times.

(A) insecure
(C) securely

(B) unsecure
(D) imsecure

96. Virtue is the opposite of
(A) Chastity
(B) Merit
(C) Morality
(D) Vice

97. The arrival and timings of the
train was mentioned on the notice
board. .

(A) Entry

(B) Reaching
(C) Departure
(D) None of these

Fill in the blanks with appropriate prepositions
from among the choices given below.

98. A small pouch was sewn his
jacket.
(A) into (B) onto
(C) to (D) with

99. I'll meet you the airport.
(A) on (B) in
(C) off (D) at

100. He was the first the boys to
win a prize.
(A) between (B) among
(C) across (D) through
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101.

102.

103.

104.

105.
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T

SECTION -B
Post Specific Subject — Related Questions

Glucose on reduction forms
(A) Dulcitol
(B) Mannitol
(C) Sorbitol
(D) Mannitol and Sorbitol

Following is one example of a Pentose
sugar

(A) Gilucose

(B) Erythrose

(C) Ribose

(D) Dihydroxyacetone

Specimen processing in histopathology
includes

(A) Fixation

(B) Embedding
(C) Staining

(D) All of the above

Factors affecting the fixation process
are

(A) Buffer pH

(B) Temperature
(C) Duration

(D) All of the above

Arrangement of cocci in clusters is
known as

(A) Streptococci (B) Staphylococci
(C) Pneumococci (D) Diplococci

106.

107.

108.

109.

110.

Stain used for the detection of
Corynebacterium diphtheria

(A) Grams stain

(B) Alberts stain

(C) Ziehl-Neelsen stain
(D) Capsule stain

is the scientific study of
changes in the structure and function
of the body in disease.

(B) Pathology
(C) Microbiology (D) Haematology

(A) Physiology

are formed in the bone
marrow by a process of fragmentation
of the cytoplasm of megakaryocytes.

(A) Platelets

(B) Red blood cells
(C) White blood cells
(D) None of the above

The following is a sulfur containing
essential amino acid

(A) Methionine
(B) Cysteine

(C) Cystine

(D) All of the above

Following is one example of essential
amino acid

(A) Aspartate
(C) Alanine

(B) Glutamate
(D) Valine
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U Wit faww - gast g
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(A) sfereta
(B) AfFera
(C) wifeieiat
(D) #Afeie R wifsera

FreferRaa o & we U2t TR T 3TET ]
(A) TR

(B) T

(C) TSt

(D) STETESRITEILH
oISt T JEEFoT |
mide

(A) Tafeem &

(B) geT

(C) =t @l

(D) 3 |t

U TsHaT S T A el B ©
(A) Sfeiers pH

(B) AT

(C) &ty

(D) = asfi

FITs il THE H FERYT ____ FHeerd!
gl

(A) RS
(C) —gHIHIHTS

(B) IR
(D) fewirmrets

106.

107.

108.

109.

110.

FITAs et fewefifan w1 gar & %
fore srgerer o @

(A) 9 T FU

(B) e qui

(C) Sher-Hrere= auf

(D) e

T oy it T oft w8 ufada %
AR FEdE |
(A) TEfoerst  (B) Renersh

(C) wrEsIETEeTStt (D) feweiersht

* e U # ey &
SR 5 o forge =t TS 510 S &1

(A) =i

(B) <TeT T ShIfSTeRT

(C) Y3 TRl SIfSTERT

(D) 3% | | g T

FAferRaa 1 & sk gow e T 7T §
(A) RIS

(B) ®ife

(C) e

(D) S |t

Fefarfaa ° @ e i o &
e IETE0T B

(A) TETeE
(C) TiATE

(B) R
(D) F=mEA
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111.

112.

113.

114.

115.
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What is the suitable timing for sterilization
by using hot air oven ?

(A) 1 hour at 90°C
(B) 1 hour at 160°C
(C) 30 minutes at 80°C
(D) 121°C at 15lbs

Bacteria exhibit great variation in the
shape and size of individual cell known
as

(A) L forms

(B) Pleomorphism
(C) Involution form
(D) None of the above

penetrates tissue well to
react with histones and basic proteins
to form crystalline picrates with amino
acids and precipitate all proteins.

(A) Picric acid

(B) Potassium dichromate
(C) Osmium tetroxide
(D) None of the above

vapor fixatives used in
histopathology laboratory.

(A) Formaldehyde
(B) Acetaldehyde
(C) Glutaraldehyde
(D) All of the above

A prolonged bleeding time may be due
to

(A) Thrombocytopenia

(B) Disorders of platelet function
(C) von Willebrand’s disease

(D) All of the above

116.

1

118.

119.

120.

121.

The normal blood coagulation system
consists of cascade of activation of

coagulation factors.
(A) 11 (B) 12
(C) 13 (D) 14

Ceruloplasmin is a
(A) Gamma globulin
(B) Alpha-2 globulin
(C) Prealbumin

(D) Alpha-1 globulin

Normal range of serum albumin is
(A) 2.0-3.0gdl
(B) 1.0-3.0g/d
(C) 3.5-5.0g/dl
(D) 0.8-1.6 g/l

Bacteria require oxygen for growth
known as

(A) Aerobes

(B) Anaerobes

(C) Obligate anaerobes
(D) None of the above

The organ of locomotion in bacteria
are

(A) Flagella
(C) Capsule

(B) Pili
(D) Mesosomes

Disorders of platelets produce bleeding
disorders by

(A) Due to reduction in the number of
platelets

Due to rise in platelet count
Due to defective platelet functions
All of the above

(B)
(©)
(D)
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T UG TG TR 7
(A) 90°C W 1 &I

(B) 160°C W 1 ®aT
(C) 80°C W 30 fime
(D) 121°C W 15lbs

Jafdres HRE & JHR R i §

Sframoy ercafires e asia €

FEaTd 8

(A) LEY

(B) =g&q

(C) Sifed &1
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(C) SHifem Ziaumse
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2l

(A) HHTcERRES

(B) TRerEiere

(C) Teueeiere

(D) 3= aeft

T T T T TeT
(A) gr=rETgerafE
(B) wieee wid o fasm
(C) af+ fadisie =1 A
(D) 3% qsft

& HRT B

116.

117.

118.

119.

120.

121.
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T &4 Thed JuITe!

FHRh % FishadT & JITd d a7 8
(A) 11 B) 12

(C) 13 (D) 14

TEAATRA B

(A) T TS

(B) ITEH - 2 TG
(C) Sueegfir

(D) 3TEH - 1 A A

o Tesgfi it wmr Avft
(A) 2.0-3.0 g/di
(B) 1.0-3.0 g/di
(C) 3.5-5.0 g/dl
(D) 0.8=1.6 g/dl

q@%%qam@mmﬁmé‘vﬁmaﬁ
__ wEdEl

A) Wl

(B) TS

(C) Tex THTSH

(D) 3% Fr3 7
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e
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122.

123.

124.

125.

126.

is defined as a reduction
in the peripheral blood platelet count
below the lower limit of normal.

(A) Thrombocytosis
(B)
(©)
(D)

Thrombocytopenia
Anaemia
Leukemia

is the initial rapid freezing
carried out by using fresh small pieces
of tissue.

(A) Drying
(C) Embedding

(B) Quenching
(D) Sectioning

Basic steps involved in gross examination
of the tissue include

(A)
(B)
(C)

Macroscopic examination
Cutting of the tissue

Recording of digital images of
specimens

(D) All of the above

The flash and holder methods are used
in the process of

(A) Immunisation

(B)
(©)
(D)

Disinfection
Pasteurisation
Incineration

Chocolate agar is an example for
(A) Enriched media

(B) Transport media

(C) Differential media

(D) Sugar media

127,

128.

129,

130.

131.

132.

133.

Amino acid required for the synthesis
of heme is

(A) Serine
(C) Valine

(B) Glycine
(D) Alanine

Enzymes are

(A) Catalysts

(B) Proteins

(C) Hormones

(D) Both (A) and (B)

Following is the fastest moving
isoenzymes in LDH

(A) LDH, (B) LDH,
(C) LDH, (D) LDH,

The Hormone secreted from posterior
pituitary gland

(A) Oxytocin
(C) Prolactin

(B) LH
(D) Renin

is the major serum

immunoglobulin.
(A) 1gG
(C) IgD

(B) IgM
(D) IgA

Which of the following test is performed
for the diagnosis of syphilis ?
(A) VDRL (B) Widal
(C) CRP (D) ASO

Each unit of FFP (Fresh Frozen Plasma)
raises coagulation factors by about
%.

(A) 1.5
(C) 4
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(A) grsEEeE
(B) Ur=ETEINfTa
(C) srifen
(D) wehfea

FehI & ST BIS THST 1
T ek Sh 11§ TR < STHT g et
g 8
(A) g@m1
(C) g
Feh % Hohel T H IS STTERT
o1 § i §
(A) &R RIET
(B) Feieh AT
(C) i & Tefores faai =t fvrerem
(D) 3 &t

FAeT ST Ereet Al = ufsrn
 Sir Y S § |

(A) TR

(B) fagswur

(C) U=t
(D) =&

(B) F&fem
(D) HTEAT

Hleheie I T IETET § |
(A) STafeq wrem

(B) uftaed wreaw

(C) Tachet ATEIH

(D) ST HTERH

127.

128.

129.

130.

131.

132.

133.

MKG-XXVIVTECHLT/1T/01

TR ST ST 3 Heem 3 R i &
(A) i (B) st

(C) HemsA (D) T
USTTEH &

(A) 3T

(B) WM

(C) T

(D) A) 3R (B) &

fe=fafea LDH & @98 3w widaret
STEHISTEH &

(A) LDH, (B) LDH,

(C) LDH, (D) LDH,

iy 7ifYr o foreet Wit g e & @
(A) FffRefm  (B) LH

(C) TfFA (D) =

e HiH sREres e § |

(A) lgG (B) IgM
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Rh incompatibility occurs when a

(A) Rh-positive mother is sensitised to
Rh-negative blood
(B) Rh-positive mother is sensitised to

Rh-positive blood

Rh-negative mother is sensitised
to Rh-negative blood

(C)

(D) Rh-negative mother is sensitised

to Rh-positive blood

Removal of entire diseased part of the
tissue is known as

(A) Incision biopsy
(B) Excision biopsy
(C) Punch biopsy
(D) Cone surgery

is an excellent reagent for
small deposits of calcium and also for
cytological preparations.

(A) Perenyi’s fluid
(B) Jenkins fluid
(C) Formal nitric acid
(D) None of the above

Scurvy is caused due to the deficiency
of

(A) Thiamine
(C) Vitamin A

(B) Ascorbic acid
(D) Vitamin D
The normal range of Serum sodium is
(A) 100 — 120 mEg/l

(B) 200 - 250 mEg/l

(C) 50— 60 mEg/

(D) 135-— 145 mEqg/l

139.

140.

141.

142.

143.

00000 O

Erysipelas and impetigo are typical
infections of the skin.

(A) Staphylococcal
(B) Streptococeal
(C) Pneumococcal
(D) None of the above

Medusa head appearance is a
characteristic feature of

(A) Bacillus anthracis
(B) Staphylococci
(C) Streptococci

(D) Pneumococci

Which of the following is not right TLC
level ?

(A) Adults 4,000 —11,000/4l

(B) Infants (Full term, at birth) 10,000
~ 25,000/l

Children (4 —7 years) 4,000 -14,000/u
Infants (1 year) 6,000 —16,000/ul

(©)
(D)

An increase in circulating neutrophils

above is the commonest type
of leucocytosis.

(A) 2,500/l (B) 7,500/ul

(C) 3,000/ul (D) 4,000/pl

can be added to fixative, which
acts as softening agent for tissues like
tendon, dense fibrous tissue.

(A) 4% phenol

(B) Acetone

(C) Paraplast

(D) None of the above
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increases flow of reagents
around tissue.
(A) Heat (B) Agitation
(C) Dehydration (D) Vacuum
The normal concentration of serum
bilirubin is
(A) 0.2-1.0 mg/dl
(B) 2.0-3.0 mg/d
(C) 3.0-4.0 mg/d
(D) 4.0-5.0 mg/di
Normal range of glomerular filtration
rate
(A) 80ml (B) 125 ml
(C) 210 ml (D) 50 mi
Which of the following parasites is called
liver fluke ?
(A) Ancylostoma duodenale
(B) Toxoplasma gondii
(C) Fasciola hepatica
(D) Plasmodium vivax
African sleeping sickness is caused by
species of
(A) Plasmodium
(B) Trichomonas
(C) Trypanosome
(D) None of the above

In AIDS, there occur depletion of
(A) CD4 lymphocytes

(B) Monocytes

(C) Granulocytes

(D) Reticulocytes

150.

151.

152.

153.

154.
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Hepatitis B is transmitted through
(A) Blood and Blood products

(B) Faecal-oral route
(C) Sexual intercourse
(D) Both (A) and (C)

Examination of the sputum is most
conveniently considered under

(A) Physical examination

(B) Microscopic and Chemic

examination
(C) Characteristics of the sputum in
various diseases

(D) All of the above

colour sputum is frequently
seen in advanced phthisis and chronic
bronchitis.

(A) Yellowish green
(B) Grey
(C) Black
(D) Brown

Following are the DNA viruses Except
(A) Poxviridae family

(B) Herpesviridae family

(C) Adenoviridae family

(D) Picornaviridae family

Germ tube test is used for identification
of

(A) Aspergillus

(B) Fusarium

(C) Penicillium

(D) Candida albicans
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Removal of tissue bit from an ulcerative
lesion

(A) Incision biopsy
(B)
(©)
(D)

Excision biopsy
Punch biopsy
Cone surgery

All of them are Branched chain amino
acids, Except

(A) Valine
(C) lIsoleucine

(B) Leucine
(D) Lysine

The number of chromosomes in a
human somatic cell is

(A) 20 pairs (B) 21 pairs
(C) 23 pairs (D) 22 pairs

Trichuris trichiura is commonly known

as
(A) Hookworm (B) Whip worm

(C) Tape worm (D) Stick worm

secrets a toxic fluid called
ascaron.
(A) Ascaris lumbricoides
(B) Ancylostoma duodenale
(C) Trichuris trichiura

(D) Enterobius vermicularis

Oral thrush is caused by
(A) Penicillium

(B) Fusarium

(C) Candida

(D) None of the above

161.

162.

163.

164.

165.

166.
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Acid used for decalcification
(A) Nitric acid

(B)
(C)
(D)

Formic acid
Both (A) and (B)
None of the above

The presence of the may
be taken as positive evidence of the
existence of tuberculosis.

(A) Yeast

(B) Parasite

(C) Tubercle bacillus
(D) Fungus

In , Bacillus Mucosus
Capsulatus organism is found with the
pNeumococcus.

(A) Pneumonia (B) Tuberculosis

(C) Pharyngitis (D) Pneumothorax

Wilson's disease is a disorder of abnormal
metabolism.

(A) Copper (B) lodine
(C) Manganese (D) Zinc

Leprosy is caused by

(A) Mycobacterium tuberculosis
(B) Mycobacterium leprae

(C) Mycobacteriumbovis

(D) None of the above

Which of the following disease is
transmitted by animal ?

(A) Polio (B) Varicella
(C) Mumps (D) Rabies
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The quantity is increased (polyuria) during
absorption of large serous effusions and
in many conditions.

(A) Nervous

(B) Cardiac

(C) Musculoskeletal
(D) Respiratory

In the urine may reach the
enormous amount of 50 litres.

(A) Gastritis

(B) Arthritis

(C) Pneumonia

(D) Diabetes mellitus

The plasma protein which binds free
hemoglobin in plasma is

(A) Transferrin  (B) Albumin
(C) Haptoglobin (D) Macroglobulin

Which of the following disease is called
break bone fever ?

(A) Rheumatic fever
(B) Malaria
(C) Dengue
(D) Rubella

About 80-90% of the fungal cell wall is
made up of

(A) Cellulose
(C) Proteins

(B) Chitin
(D) Lipids

increases penetration rate
in tissue processing.

(A) Heat (B) Agitation
(C) Dehydration (D) Vacuum

173.

174.

175.

176.

177.

178.
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Dietary deficiency of the following
nutrients may cause Pellagra

(A) Folic acid
(C) Cobalamin

(B) Pyridoxine
(D) Niacin

Normal Plasma potassium level is
(A) 1.5-3.0 mEg/l
(B) 3.4-5.0 mEg/l
(C) 5.5-7.0mEg/l
(D) 7.5-9.5mEg/l

A host on which the parasite lives in
adult form is known as

(A) Intermediate host
(B) Definitive host
(C) Paratenic host
(D) Casual host

The cyst produced by Echinococcus
granulosus is called

(A) Metacyst (B) Hydatidcyst

(C) Oocyst (D) Procyst

resembles amorphous

phosphates to the naked eye in the
urine.

(A) Pus (B) Blood

(C) Water (D) Acid

The mixed twenty-four-hour urine is
slightly in reaction.

(A) Normal

(B) Acid

(C) Toxic

(D) None of the above
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Bacteria and cells are best seen in
sputum.

Unstained

Stained

Both stained and unstained
None of the above

(A)
(B)
(©)
(D)

In test, a solution of methylene-
blue is injected intramuscularly and the
time of its appearance in the urine is
noted.

(A) Phloridzin

(B) Methylene-blue
(C) Kidney function
(D) None of the above

Live attenuated vaccine for rabies is
also called

(A) Salk vaccine

(B) Sabin vaccine

(C) Salk and Sabin
(D) None of the above

Presence of viable bacteria in the
circulating blood is known as

(A) Bacteremia
(B) Paraitemia
(C) Viremia

(D) All of the above

A major constituent of lung surfactant
is

(A) Sphingomyelin
(B) Plasmalogen

(C) Cardiolipin

(D) Dipalmitoyl lecithin

184.

185.

186.

187.

188.

189.

N0 00 0 R0 O

Saturated fatty acids are
(A) Palmitoleic acid

(B) Oleic acid

(C) Butyric acid

(D) Linoleic acid

The 4-nucleated cyst of
entamoeba histolytica is called

(A) Oocyst

(B) Precyst

(C) Quadrinucleated cyst
(D) Hydatid cyst

Wouchereria bancrofti causes
(A)
(B)
(C)
(D)

Amoebiasis
Toxoplasmosis
Enterobiasis
Filariasis

is a example for basic dye.
Methylene blue
Basic fuchsin
Both (A) and (B)
None of the above

(A)
(B)
(C)
(D)

are mixtures of acid and basic
dyes, which stain both nucleus and
cytoplasm.
(A) Basicdyes (B) Acidic dyes
(C) Neutral dyes (D) Solvent dyes

A deficiency of Vit. By, causes
(A) Hemolytic anemia

(B) Thalassemia

(C) Pernicious anemia

(D) Beriberi

https://www.freshersnow.com/previous-year-question-papers/



V0 0.0 0 O O O

179.

180.

181.

182.

183.

-35-

Eiciuicidea e TEr ¥ Ted
373 I ¥ W I HHa ¢ |

_ ghyed, Murdfm-Aen s s
foretaa STa gigusiia ®9 9 fq:819q
ST & SR 36 Tohe B o1 G0 I A1
ERIES IR

(A) TR
(B) Temsetia-en
(C) I+ FH
(D) I H & =I5 T

Sfifea ag deifas 2 GIETSIG]
2l

(A) bi T

(B) @fem demt

(C) G i afem

(D) 3o | IS T
ftererfier v & Samoy St e
Feadl gl

(A) sfetfian

(B) rgefian

(C) argifrn

(D) 3o Gt

HEE! AT % I 9% 8
(A) TeFsimTEe=

(B) TATSHTSASH

(C) ST

(D) THRINHASS =T

184.

185.

186.

187.

188.

189.

MKG-XXVIVTECHLT/1T/01

T 9T 3 &

(A) uifeieretis T

(B) Aifer 3=

(C) =fef st

(D) TomTferes am

4 FgFFare veHte e i e
' FeaTdt e

(A) 3t

(B) Wifewe

(C) =gd s foee

(D) emsefes e

IR ShIee FAT 2|
(A) wfiferfia

(B) ZeGIwcATHITEE

(C) TRemfE

(D) feafenfaa

&g T 1 I8 B
(A) Temsefin s

(B) iféreh wgEi=

(C) (A) =t (B) 3

(D) 3% H ¥ 1 T

oy R et O o e g, s
5 3T I 59 G ! TT 3ol B

(A) & T (B) Twiig T
(C) SeEA@ (D) faem=s @

faafim B, Fi =t & A |
(A) Eifertes et

(B) erafiar

(C) T IR

(D) st

https://www.freshersnow.com/previous-year-question-papers/



MKG-XXVIVTECHLT/1T/01

190.

191,

192,

193.

194.

195.

-36-

Pathologically, urine level is found low

in
(A) Chronic interstitial nephritis
(B) Diabetes insipidus

(C) Functional nervous disorders
(D) All of the above

Abnormal cloudiness in urine is usually
due to presence of

(A) Urates and Phosphates
(B) Pus
(C) Blood
(D) All of the above

The process of sharpening of the
microtome knife consists of

(A) Honing

(B) Stropping

(C) Both (A) and (B)
(D) None of the above

clearing agent is having
carcinogenic property.
(A) Toluene
(B) Benzene
(C) Chloroform
(D) None of the above

The total amount of solid constituents
carried off in urine in twenty-four hours
is about

(A) 20gm (B) 40 gm
(C) 60gm (D) 80gm
The is an aqueous solution

of various organic and inorganic
substances.

(A) Blood
(C) Sputum

(B) Urine
(D) Water

196.

197,

198.

199,

200.
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Example for Yeast like fungi
(A) Candida

(B) Cryptococcus neoformans
(C)
(D)

D

Aspergillus

Histoplasma capsulatum

An infection resulting from treatment or
investigative procedures known as

(A) Cross infection
(B) Environmental infection
(C) Nosocomial infection

(D) latrogenic infection

Aspergilloma is commonly known as
(A) Fungus ball
(B)
(C) Fungal complex
(D)

Fungal net

None of the above

Mumps is an inflammatory disease of
(A) Parotid glands

(B) Pancreas

(C) Liver

(D) Gl tract

Which of the following is bullet-shaped
virus ?

(A) Polio virus

(B) Influenza virus

(C) Rabies virus

(D) Measles virus
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Sufigari % fere Tewegut siggw

13.

14,

15.

) 7%

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Method | Wrong Method || Correct Method

O®00|000|C®@0O0|I0e00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14,

15.

16.

- i

18.

19

W0 0 0 OO 00

7| qfETe § 40 U B

Ry : y® W YT S IR Y % 9%
TR I Y T HUF I T E | IS oo
# amaeh! fordt U i g B ST WA T AE I
2 YAl HUA 1 QU B IR 79T I 9B |
I9GH MAHR @H A, B, C a1 D =i =fien a1 Frer
qie-UTs 99 | HieN (@) FA1 2 | (Sheantem
Iefleani & fou 9ma meesn fafvs g
e feren o)

Wi W & A 3 o W faeeee e ST
3w ford | g9 = o e wm B il |
T T TR fEm 2

ol -fele] (efviele] (elOXele) (el Heoke)

Feff Fl U1 IR AFGES e =GR F IR
Tafa tn =1z |

YRIF W F FaA TH A TE IW R | ATH
ofa Hiem 39T A, B, C I1 D & TielsR @
W HTET (@) FA1 2 | g 319 et weA & |
TF ¥ AfUs MR @H S 501 (@) T 9
IO TAd WA SR |

Ife frdt = & f&mdt aon 3SR sERe § 9
e 8 A SIS TR I & wE qH FAW |

Fed WM & T Hae WA 9 | oy ™ wum
TN i | IR YRS W FHed HE A B

39 Yfcen & 3R 3NTUh! IR 3T T8 &t ¢ |
IR FAA WU H @ 3

Go through instructions given in Page No. 1 (Facing Page)
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